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TecT U3 eHIIECKOT je3NKa HA NPHjEMHOM MCIIMTY Y (PHIIOIOIKHM THMHASH{AMA H O1e/belHMa
jynn 2013,

PEIIEIA:

I READ THE TEXT AND CHOOSE THE CORRECT ANSWER BY CIRCLING THE
LETTER IN FRONT OF IT. (5 x 2 points = 10 points)

1.d) 2.¢) 3.a) 4.¢) 5.b)

II READ THE TEXT. THEN CIRCLE THE LETTER (a, b, ¢ or d) IN FRONT OF THE
ANSWER WHICH YOU THINK BEST FITS EACH SPACE. (20 x 1 point = 20 points)

l.¢) 2.a) 3.b) 4.¢) 5.d) 6.b) 7.¢) 8.a) 9.b) 10.¢)
11.b) 12.d) 13.a) 1l4.¢) 15.d) 16.¢) 17.a)  18.b) 19.¢) 20.d)

Tl READ THE TEXT FIRST. THEN WRITE THE CORRECT FORM OF THE WORD
IN BRACKETS IN THE SAME LINE. WRITE ONLY ONE WORD ON EACH LINE.
(10 x 1 point = 10 points)

1) thinking/thought  2) development/developing  3) identifies 4) correctly 5) different
6) intelligent 7) interested 8) really 9) educate 10) disappear

1V READ THE TEXT BELOW AND THINK OF THE WORD WHICH BEST FITS EACH GAP.
USE ONLY ONE WORD IN EACH GAP. FOLLOW THE EXAMPLE (0).
(15 x 1 point = 15 points)

1) has 2) of 3) of 4) me 5)all 6) our 7) to 8) do 9) because
10) what 11) to 12) the/this/that/their 13) why 14) of 15)a

V READ THE TEXT FIRST. THEN FILL IN THE APPROPRIATE FORM / TENSE OF THE
VERB IN BRACKETS IN THE ACTIVE OR PASSIVE VOICE. PAY ATTENTION TO
THE WORD ORDER. DO NOT ADD ANY OTHER WORDS. (22 x 2 points = 44 points)

1) knows  2) have 3)seems  4) to protect 5) will (can/could) this cause  6) to walk 7) go

8) happens 9) (will/can/could/may/might) become 10) means 11) allowing 12) think
13) worry  14) have ever been 15) to grow up 16) protect (be protecting) 17) to make
18) playing  19) watching 20) don’t (can’t) feel 21) go 22) to look

VI COMPLETE THE SECOND SENTENCE SO AS TO GET THE SAME MEANING AS IN
THE FIRST SENTENCE. (5x1 point = 5 points)

. putting (up) ......
S EAther s

. fact ...

sivo BB i

... both Sam and ...
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VII WRITE THE FOLLOWING SENTENCES IN THE PASSIVE VOICE:

1. Belgrade was given a spectacular concert by Depeche Mode.

(4x2 point = 8 points)

A spectacular concert was given in Belgrade by Depeche Mode (by Depeche Mode in Belgrade).

2. Other bees are led to the source of food by worker bees in funny ways.
(Other bees are led by worker bees to the source of food in funny ways.)
The visitors were shown (by them) how orangutans communicate.

w

4. Children are taught lots of useful things by parents (by parents lots of useful things).

Lots of useful things are taught to children by parents.

VIII WRITE THE FOLLOWING SENTENCES USING REPORTED SPEECH:

1. The man warns Linda not to go near the bees if she has used a perfume.
2. Grandma asks John if he slept well in his good old bed.
3. The boy asks Mr Shumaker how Inda chooses symbols on that screen.

(4x2 point= 8 pts.)

The boy asks Mr Shumaker how symbols are chosen by Inda on that screen (on that screen by Inda).

4. Miss Clark (says that she) hopes that Andy knows the answer to her question.

Yxynuo: 120 noena
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CHCTEM BOJIOBAIbA: YKYITHO MOT'VRE: 120 MTOEHA
HATIOMEHA: [lpuxsarajy ce npasuia o6a npaBornuca (GpHTaHCKOT W aMEPHUKOr) €HIJIECKOT je3nKa.
1 Caako nuTare Hoc 2 noeHa; moryhux 5 x 2 = 10 noena.

11 Caako nutame Hoc | noen; moryhux 20 x 1 =20 noena.

11 Csako nurawe Hocu | noew; moryhux 10 x 1 = 10 noena.
Baxwua nanovena:
VKONHMKO KaHAWAAT NOTPeLl Y MHCatby HEKOT OAroBOpa, 3a HCTH 1061ja 0 noexa.
INpuxBarajy ce OArOBOPH NMHCAHN BETMKUM CIIOBHMA.
TpuxBara ce 0IrOBOP KOjH je HANMCAH MATMM CIIOBOM MAKO je pey Ha MOYEeTKY peyeHuLe.

v Caako nuTate Hoc | moen; moryhux 15 x 1 =15 noena.
Baskna nanomena:
VKOIMKO KaHAMAAT NOrPeliy Yy M1catby HEKOr 0AroBopa, 3a McTH 106uja 0 noexa.
[MpuxBartajy ce 04roBOpH NHCaHM BETMKHM COBUMA.
[puxBara ce 0OAroBOp KOjH je HAMKCAH MAMM CJI0BOM HAKO je pey Ha MOYETKY peyeHHIe.

v Caako nuTame Hocn 2 noena; moryhux 22 x 2 = 44 noena.
Basmne nanomene:
-VKO/IMKO KaHM/IaT NOrPEeiHO HaNMIe HeNPABUIaH TJIaroNl WM Haruiie NorpelaH HacTaBak
(-d ymecto —ed u 06patHo; -s ymecto —es 1 06paTHo) — 106uja 0 noewa.
-YKOJIMKO KaHMJAT He H3BPIIM IPOMEHY y nHcatby (JIeKTHBHOI HACTABKa Ha Kpajy riarona
(yABajatbe cyriaacHuka, npoMena —y y -i) — 1o6uja 0 noexa.
-YKOJIMKO KaHMAAT [ Ta4aH rIaroicku oGnnK/Bpeme, ik M30CTaBu uiu nepmytyje 1-2 ciosa
y KOpEHOM Jiely Heke 0/ peun u3 3arpaje (unp.: belive, beleive, hapening)— npusnaje ce | noen.

Vi Cako nurate HocH | noen; moryhux 5 x 1 =5 noena.
Bazue nanomen
VKOJIMKO KaHIWIAT NOrpeLn y nucakby HEKOT OAroBopa, 3a HCTH JIo6uja 0 noeHa.
TpuxBatajy ce onmje nonyhene y 3arpaau y KJbyuy, OCHM y ciyuajy ia Kanaujar y
TIPENUCUBAILY TIOTITYHO H30CTaBH uNaH/6poj Tamo rie je HeonxoaaH.

VI Ceako nurame HocH 2 noexa; moryhux 4 x 2 = 8 noena.
Basxue nanovene:
-AKO KaHIM/IaT NOrpeliHo HaMuIIe I71arof y MpeukaTy — Bake HarlomeHe 3a BexOy 6p. V.
-VKOJIMKO KaHMAAT HANKIIE Tadan 00/IMK NackBa, Al H30CTABM UIaH WU TIPHIIOT Y CBOM
OJroBOPY WM NMOTPeGHOT BPILMOLA Pajiibe Wik NPENIOr Ha Kpajy peuenulie, 1o6uja | noen.
-VKOJMKO KaHAMIaT Hanuile TauaH 00/MK NackBa, ajlk ynorpedu norpeiian npeior 3a
BPUIKOLIA paltibe, 100uja | noeu.
-VKOJIMKO KaHnAaT Hanuiue Tauan o0IMK Nackea, ay 3aMeHH MoKasHu Npuies oapeheHum
4ITAHOM, NMPU3HA]Y ce 2 NOeHa 3a Ty PEUCHUILY.
-VKO/IMKO KaHAMAAT HaNKIe Ta4al 00/IMK NaCHBa, allM HANPABH CHTHY OMALIKY Y MPEMUCHBalbY
HeKe CIOpeIHe Peyn (M30CTaBN WM YABOJH HEKO CI0BO) - MPU3HAjy ce 2 noeHa.
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Caako nuTame Hocu 2 noena; Moryhux 4 x 2 = 8 noeua.
Baxue nanomene:
~AKO KaHIWIAT NOrPELIHO HANKILIE FIAr0N y NPEAMKATY — Bake HarloMeHe 3a BewGy 6p. V.
-YKOJIMKO KaHAMAAT TAYHO Ypain TPaHCHOPMALIM]Y Y MHAHPEKTHH FOBOP, A7TH H30CTABH Wil
TOTPEUIHO HATHILE 33/1ATH IPUCBOjHY NPUJIER/3aMeHuLLy (HNp. ca anocTpohoM) HilH IPUCBOjHH
TIPUJIEB 3aMEHM OAPENEHUM WIAHOM, WM He IPOMEHH NOKA3HY 3aMEHHLL y oarosapajyhn
obnuk, 106uja 1 noex.

-YKOMKO KAHANAAT TA4HO ypau TPaHCHOPMaLH]y NIPEAMKATa Y HHAPEKTHH TOBOD, Aln
YNOTPEOH MY 3AMEHHLLY HJIH IPHCBOJHH NPHIEB KOjU HUKAKO HE OArOBAPajy OPHIHHAIHO]
peyenmum, 106mja 0 noewa 3a Ty peveHuLly.

-YKOIMKO KaHANAAT HANPABH CHTHY OMALLIKY Y IPENHCHBAILY HEKe CTIOPEIHE peun (H30CTaBH
WM YIIBOjH HEKO CIOBO) - NpU3Hajy ce 2 MoeHa.





